2% 5 AR AERS
S LT AR BB

runi((1

Hi A Rk 104£2 H 1 H (RH)

=5 T A
HfE H A A SR RS



NIRMDE FERIG

{1104
B i K % R 4 FEGA
1 [ith S&EH 74 |[HExE T S\Lo2957 [14E| 31
2 |MAH =hMFD L 78R |EEBETH! S\Co2o57 |14 28
3 [&#A H 78 |#ERIETHI S\Co29357 34| 27
4 |[IMNEF OHZE 78k | /MUBET F NMUBTIREEE |35 26
b |#K BH 78 |#ERIETHI S\Co29357 14| 24
6 Bk &85 78k BB SLCoZ4957 3% 23
1 %8 & 7%k | EFTH | EHERELE |14 22
8 | B®K 7k | ERET | RRREME |24 20
9 |FfiK UVAZE 78 |EERETH S\Co24957 |34 18
10 ;5 H i 108k | /MLUET | NUBTIRESE |15 16

Bit174Sm




o~

DaAZT DR FERIE
{1104
JIE 42 K £ F R A FE|GR
1 |[=4E At 145 |#HEGH EERE/IFER |24 31
2 |11l $ PEE | (BI5GB IH R /N4 | 24F | 28
3 |[#H & MEx | BiEm | BFdbER |24F| 27
4 B %L 4% |EERIE T #EIH/INERR [24F| 24
5 |HE HBE A%%  |fEIERIZTH! THEZIH/INERR |25F | 16
6 |#21U @k ok |fEERETH. REE/NVER |25 10
7 | KHF w591+ | 58k |fHEST #ERIS/IVER (14| 9
8 |[LE W5 5k |fEIERSTH! SIES/INVER |14 8
9 B AHZA Hik |{HEZIZTH! fHEH/NFERR [25F| 8
10 |FL kLE bk |fHERIG T HEIG/NER | 1E| T

Bit16&SmM




AT O RE BRI
Sa=7OH EBEIHE

=55 N7
1 2 3 Eq= 2 3
X X I 5YITA X X X
X O D5LEDITA X X
x | O FE—E X X
b B4 LERE b
2 TR 0
TaZT7DE 1EEERE
HE H{
1 2 3 EY= 2 3
O R —E O| O
X X X SHEEL X X X
O | O (TAFZTRY O | x
b A LG 39.57F)
1 1= 2
TaZT7DE 1EEEIRE
HE H A
1 2 3 Eq= 2 3
x | O FE—E X X
X x | O 265YITA X X X
b B4 LERE b
2 HFR 0
DaZT7DE 1EEFESRE
AFF NI
1 2 3 Eq= 2 3
X X X DH5LEDITA X x | O
X [TAET R O
b B4 LERE b
0 1= 2




DaAZTDE ERBFEIEE

=15 HE
1 2 3 EqS 2 3
X X X SMEEL X X X
X X D5LEDITA x | O
X X SHE5YITA X O
b LEPN b
0 FR 2
DAZTDER FERBE2HE
HEH )1
1 2 3 EqS 2 3
O | x SYITA Ol O
X [TAET R O
b A4 LR b
0 FR 2
DAZTDER R
HE )1
1 2 3 EqS 2 3
Ol 0| O D5LEDITA Ol 0| O
X O X S5ENT X O O
x | O]l 0O (FAZETRY X | O x
X AT O
Ol 0| O SYITA Ol 0| O
O| O | O R —E O| O | x
19.88%) A4 LR b
3 FR 2




AZTDER R}

N

Sh—F AL

.@ﬂ#:Eﬂﬁ £L
EEE W F
B %L
3
1
0 2 0
2 0 1 2 2 0
T
: g 5 4 3 6
= = H H HE ¥
B ;i 1] t £ H 1
31| K ¥h 1L =1 #%
yich ; =3 th #o

(/N
Ji

E2Y

FhUD  HH -



EEHANFY EAX VK

A 9% SN

R 4L K& (E#HY) TR
i INEFRDSE 10
BB ERHY) [IE=NIESD 10
L (EHHY) | TEFHEK 10
A\Yrm 145m

i 4L K& (E#HY) TR
12 1% FHE 10
BB ERHY) [MSEH 9
3L (FEFHY) |Fn AP A 7
hJS5oa 545

i 4L K& (E#HY) TR
i X EESE 10
BB EEHY) |SIBEF 10
L (FEHHY) 21UV DH 10
EDITA 12430

i 4L K& (E#HY) TR
i =B 10
SR EsHY) [R)IF 10
3L (EHHY) | EHES 10
1T HE BN

i 4L K& (E#HY) TR
i BARH S 10
BB ERHY) (RSt 10
3L (BHEHY) |sHEK 9
SH5YITA 185

i 4L K& (E#HY) TR
i =4 4
B ERHY)

3 (FEHHY)




25LEDITA 125

D&l v K& (B38HY) FR
2 1% HEED 10
BB EEHY)

3L (1EEHY)

FH—E EZ N

D&l v K& (BE8HY) FR
12 1% LS 10
BB @EEHY) |SEERX 9
3L (1Y) |5 I FO4E 7
—BIEENTE 185

ol v K& (B38HY) FR
12 1% AN 9
BB EEHY)

3 (EHHY)




LA O

IEFFE DI
JIE 32 £ Al 5%
BB | FE 64K Kf:3 ALo2H57
241 |5)Il F04 —E | 3% {5 RE i
il [N T M | 2% ALoZ9357
AL [#EH Bt M | 29 | BEFAEY—IIL
54 |BK %L 14% 24 ALo29357

= FEDER
JIE 32 £ Al 5%
B A F4A HEE | 4F RRIRELE
241 |5 BX ZE | 5% B 5 RE i
3L |2t H 14R 64F By I5 R E i
441 |&E EF 2% AE B 5 RE i
S4L |#AK  HA 14% A RRIRELE




BF T ERG

{114
JIE {32 K £ F R A FE|GR
1 [#HA Bt =B | AFEwm | BdEER |45 40
2 |[1£%7 8 HEE | RRET | RRI/NFR (45| 40
3 |1£%F ILHH = | RRET | RRI/NFK (64| 38
4 |m)Il FO& — B |EEG T B IS R /N AR | 34 | 33
5 |98 BAX Z R |HEET EXR/INER |55 32
6 = it 145 |HBERGH, FE/NER 24| 31
7 |85 K Hw 1% | RRHE | ERIL/DER (45| 29
8 |#)Il # FE |HBEGH #HEIS/INER (24| 28
9 |[#H & MEx | BiET | BAL/INER |24 27
10 |HE %L 148 |EERIG T, #ERIS/INVER (24| 24
11 |&% 14% | B G T G m /N AR | 64 | 21

Bit224Smn




BFOE RE-TERE

BFOE 1EEE1HS

A _ (I
1 2 3 EQS 2 3
O 1TEEAIFIRY X
O ShEEL X
) 24 Lk )
2 EY=l 0
BFOE 1EEKE2GRE
S . ch I
1 2 3 EYS 2 3
O | O FEH—RE O | x
X X X 1TEEAIFIRY X X X
O DHLEDITA X
) 24 Lk )
2 5r 0
BFOE 1EEKEGRE )
LTI . =15
1 2 3 EYS 2 3
X S5V O
X X X SYITAGFEBENZAT) IFHITA - X X X
O — BT & X
63.24F) 24 Lk #
2 5r 1
BFOE 1EEEIRE _
FAN . S ES
1 2 3 EYS 2 3
X S558YUITA O
X — [BIER TR T4 O
) 24 Lk )
0 5r 2




BFDE EREBEIHE _
#EH . 5B
1 2 3 12 H 1 2 3
X X KTE EAIFIRY x | O
O FEH—RE X
68.79%) 24 LFRI #
2 TR 1
BFOE ERBFE2RSE .
IEESTIN L IEESES
1 2 3 ES 1 2 3
x | O — AR FRITH: X | x
O | x KTEEAIFIRY O| O
45.55%) 24 Lk #
2 TR 1
BFDER R _
#EH . IEESTIN
1 2 3 ES 1 2 3
O < WVT X
O| O | O ShEEL O| O | O
x | O] O hEkEHL x | O] O
X X X AYFAGEENZT) FhiFA | X X O
O| O] x FEH—E O| O | O
x | O — BRI THE: X | x
# 24 Lk 53.12F)
2 FR 3




N

BFDER R

5 —F Ak

Em H#H -

B = LA
AEER-HEEH B
&% |LBA
2 3
T
1 2
T T
0 2 0 2 1 0
T
8 5 4 3 6 7
LN 5 F & = £
) B i L5y B R
3D B # = 31| P
N &t BH 12 #%

I3
£7



X+ F AR

184
B iz K £ F R A FEFR
1 |5H B 14R  |fHEg 5 h | B 35 N EAR |44 | 32
2 &8 BEF 21k |fHEZIZ™H! [REB/NER |44 20
3 B EEHE 14% |HERS T [FE/NER (45| 1
4 |20 #BE 5%k | /MLUET | JBER/NEERR |3FFE| 9
5 B AHZ ok |{EBRISTH! fHERIG/NFR |24 8
6 Rk R 6% | /NUBT | JRE/INERR (34| 7
7 [®21l0 Wod | 5ER |HEGTH BIEG/INER (35| T
8 |fi K W% 6% |{ENBR 5 T HIER IS /N 34| 6

Bit122Smn




FDEP REE>TEL R
ZFDE 1EEFE1RE

=HE
1 2 3 EqS
O - 25LEDHITA
X X X — Bl SRR THE
O . pINAY ]
b A LR
2 TR
ZFNER 1EEFE2HE
A
1 2 3 EqS
X | x| x [ hEkFEHL X
X X X D5LEDITA X
X X X FHE—F X
X X X [TAFET Y X
b A LR
0 FR

ZFNDE 1EHEIFHE

A X

1 2 3 =4
X X x |- 245LEDITA X
O HR—E X
X X x |- FHE—F X
X | X | X% < LVT X

) A LEER
1 TR

ZFNDE 1EEEIHE

Al

1 2 3 1 H
X FAETRY O
X X X FHE—F X
X X x |- IHSYITA X
X X X D5LEDHITA X

) A LEER
0 TR




ZFDER FERBFHIHE

EHE = HE
1 2 3 EqS 1 2 3
©) . FEH—F X
x | O hEkFEHL -l X X
b A LR b
2 HFR 0
TFDEN EREBE2ZHE
R X =15
1 2 3 EqS 1 2 3
X X x |- SCVT X X X
X X D5LEDITA x | O
X X x |- FHE—F X X X
O| x| O 7 —E Ol x| O
b A LR b
0 FR 1
TFDER R
EHE =15
1 2 3 EqS 1 2 3
x | O - S WVE X X
O R —E -l X
X x | O |- — AR FRITHE: X X X
b A LR b
3 HFR 0




4 HENE -

TFDER RIF—F AL

BB EH Bt

2B SE EF

2H B
3 0

0 0
0 0 1 1 0 0
8 5 4 3 6 7
i ] % = it iz ¥
R il H X 3 il
ﬁ* ;\ {fi ; E L\
e 7 = & E3 D
A & 2

= o~

N mt



